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HT 4 AQ 18R 5% 18R % R | R | R
JR\=H] 415 1 183 0 232 1 175 -1
ELH] 215 -4 105 -1 110 -3 81 0
E=H] 132 1 60 1 72 0 60 1
KEH] 34 16 0 18 0 16 0
N 12 0 4 0 8 0 5 0
faEHT 82 0 34 0 48 0 24 0
SR ] 49 -1 7 0 42 -1 7 -1
FEE L ] 493 0 265 -2 228 2 294 2
FEH] 28 0 16 0 12 0 16 0
1] 198 7 86 4 112 3 94 5
=] 170 1 94 0 76 1 92 0
piadiil] 231 5 118 3 113 2 120 1
ZH] 147 -1 66 -1 81 0 63 -1
B SH] 484 0 241 0 243 0 234 1
#rH] 85 -2 38 -1 47 -1 49 -1
1GASH] 107 0 52 0 55 0 37 0
FASRH] 163 -1 79 -1 84 0 92 0
—&HT 0 0 0 0 0 0 0 0
NET 114 0 54 0 60 0 54 0
t&ET 144 4 66 2 78 2 56 1
NET 88 -1 41 0 47 -1 37 0
NET 166 2 62 1 104 1 34 1
T&ET 242 -4 91 -2 151 -2 116 -2
i qealiil] 375 3 164 0 211 3 191 2
EH] 2,608 2| 1,274 2| 1,334 0] 1,088 4
SRFRHE] 3,437 -12| 1,644 -7 1,793 -5 1,357 -6
EEH] 1,558 -2 760 -4 798 2 578 3
FRi2H] 1,776 1 916 5 860 -4 792 -1
#ERH] 412 -4 191 -2 221 -2 176 -1
FHASTHT 3,595 28| 1,797 36| 1,798 -8 1,599 26
(1TRd:ii) 2,461 32| 1,182 23| 1,279 9 1,015 22




VEIRET 2,094 9 1,005 7| 1,089 2 664 4
MEEE]7 4,909 15 2,389 8| 2,520 7] 1,931 10
MEEL] 2,108 -5 1,028 2| 1,080 -7 850 2
EBZRHE] 9,591 7| 4,664 7| 4,927 o 3,697 4
=M 3,997 16| 1,955 4 2,042 12| 1,525 7
[ ERHET 1,191 17 612 11 579 6 502 6
AREFHTER — 2,591 3| 1,234 o 1,357 3 897 5
EREFHEIER 5> 1,892 2 918 1 974 1 696 4
Ertadiiicpa) 594 8 291 4 303 4 215 3
7K H] 5,670 -8| 2,678 -5 2,992 -3 1,967 3
BRFNHET 161 3 155 4 6 -1 150 4
EEH] 18 2 9 1 9 1 9 -1
ETRE—TH 391 1 204 1 187 0 180 1
ETRE_TH 290 -4 129 -1 161 -3 136 -1
ETRE=TH -1 0 -1 0 0 0 -1 0
ETREMUTHE 0 0 0 0 0 0 0 0
ETREATH 233 3 115 3 118 0 79 1
rtEE 0 0 0 0 0 0 0 0
TEE—TH 380 -8 173 -5 207 -3 177 -4
TEE—TH 707 5 339 2 368 3 331 3
TEE=TH 324 3 163 1 161 2 143 1
B —TH 461 -4 218 -2 243 -2 221 -1
WERE—TH 678 0 309 -1 369 1 325 0
HEEI=TH 386 0 183 -6 203 6 199 -7
fEMAFRET—T B 310 -1 132 -1 178 0 142 -1
EMEPRET — T H 497 3 235 -1 262 4 244 1
JEFILEI—TH 171 -6 82 -1 89 -5 81 -2
JEFELE—TH 403 3 189 2 214 1 180 1
FAAE—TH 260 -4 134 -3 126 -1 144 -3
AR —TH 443 11 231 7 212 4 238 2
FEH—TH 130 -1 60 -1 70 0 56 0
B _TH 326 0 152 -1 174 1 155 0
[ 301 -2 142 0 159 -2 217 -1
IFEE—T B 127 1 63 0 64 1 64 0
e — T § 256 0 110 1 146 -1 95 1
hFE—TH 587 5 266 1 321 4 230 3
TR _TH 380 -2 175 0 205 -2 155 -4
hFE=T8 540 13 251 8 289 5 231 2
RN T B 397 -1 175 -2 222 1 158 2
FEERTE 596 -5 264 -1 332 -4 224 -2
¥oRET—TH 209 -6 115 -3 94 -3 93 -4
FREI—TH 376 5 217 7 159 -2 219 9
AEEE—TH 448 -1 220 -1 228 0 213 1




HIEEE —TH 309 0 145 0 164 0 129 0
1EEE—TH 150 -3 74 -4 76 1 79 -2
BEEI " TH 617 -9 294 -3 323 -6 288 -2
BEEI=TH 522 0 268 2 254 -2 229 2
IEEEUT H 229 -3 102 -1 127 -2 95 -1
EEEATH 692 -5 324 -3 368 -2 350 0
Kim#]—TH 315 -2 154 -2 161 0 134 -1
XKim] —TH 223 5 111 4 112 1 87 1
AFH—TH 123 -3 57 -3 66 0 64 -1
AFHZTH 10 0 5 0 5 0 5 0
ARFH=TH 181 2 91 2 90 0 85 2
TasETFE—TH 672 -1 323 1 349 -2 247 1
TEREI T H 335 7 155 4 180 3 128 3
TasEIFE=TH 384 -5 210 -4 174 -1 148 -2
TasETFEIU T H 535 -1 250 -2 285 1 220 -1
TasETFER T H 617 3 291 2 326 1 260 2
TasETFE N T H 351 -1 189 -2 162 1 169 -1
TEsETFEETH 665 -4 317 -1 348 -3 310 0
VAN S 659 3 312 3 347 0 283 3
THREER—TH 1,466 -21 701 -13 765 -8 617 -10
THREERTTH 396 2 202 -2 194 4 162 -2
THREER=TH 672 1 322 -1 350 2 285 1
TARETRMNTH 1,128 -6 553 -2 575 -4 452 0
THRERATH 1,022 5 541 2 481 3 538 3
TARHETRATH 547 6 276 5 271 1 301 6
TEERETH 1,519 -15 766 -8 753 -7 663 0
TESETERA\TH 1,209 2 547 0 662 2 574 -1
TEERNATH 421 3 207 1 214 2 142 4
TasETIE—TH 78 1 47 1 31 0 65 1
TEsETIE=TH 103 2 68 2 35 0 79 2
4N &t 81,593 95| 39,591 81| 42,002 14| 33,772 111
AEHTE 103 0 45 0 58 0 66 0
AEHTA 105 0 52 1 53 -1 63 2
AEHTRA 13 0 5 0 8 0 10 0
A EH]/)\BR 109 -2 51 -1 58 -1 48 -2
A EHTAH 6 0 4 0 2 0 5 0
AEH{EH 61 0 27 0 34 0 27 0
KSR 11 1 5 0 6 1 8 1
AKEHTE R 9 0 3 0 6 0 5 0
45 11 0 4 0 7 0 9 0
AEHXEET 428 -1 196 0 232 -1 241 1
IN=TRvES) 32 0 17 0 15 0 21 0
TN RO 35 0 16 0 19 0 26 0




IN=TIESOY 36 0 15 0 21 0 23 0
[~ SETER R 28 0 10 0 18 0 18 0
IN=T =% N 57 2 27 1 30 1 33 1
IN=TiI et 15 0 10 0 5 0 14 0
IN=TIG 26 0 17 0 9 0 17 0
[LEE/NFE 39 3 17 1 22 2 19 3
FEH] 31 0 17 0 14 0 20 0
=Bt X &St 299 5 146 2 153 3 191 4
BIREPEET 727 4 342 2 385 2 432 5
fRESRET RE) FH 1,365 4 661 3 704 1 490 3
TEFRETFEE T 702 -5 302 -3 400 -2 226 -1
HERET ] FHER 1,257 0 595 -2 662 2 423 2
‘f*"”ﬂﬂﬂﬂﬂﬁ 1,066 2 532 2 534 0 383 1
HE SR 1,376 8 687 8 689 0 474 8
% %ﬁ’ﬁ% 1,160 15 542 6 618 9 431 7
TERE] = RE 3,910 ol 1,889 -3 2,021 3] 1,433 3
TRt X S5 T 10,836 24| 5,208 11| 5,628 13| 3,860 23
ERILIET ESAEEF 2,103 2 992 o 1,111 2 712 2
ERILE] T AEF 2,634 7| 1,315 3] 1,319 4 938 5
ERLLIETER/M I 2,029 2| 1,010 2| 1,019 0 803 1
ERLLIETFEIR T 1,532 -5 749 -6 783 1 526 0
BRI SRy 1,162 -11 573 -4 589 -7 424 -3
ARLLET) R 2,276 17 1,117 of 1,159 8 832 7
ERLLIETERIR T 5,536 -8| 2,664 2| 2,872 -10| 2,054 -4
BRI X EEE T 17,272 4 8,420 6| 8,852 -2| 6,289 8
=) = 110,428 127| 53,561 100| 56,867 27| 44,353 147




